EARAROBEEIERT — 2 N— IBISH —F

2018F1 10 (k) 17mE%5#A2H

m"fﬁ%B 6 B6 YIXR—#% ‘ (%E] W ‘ (mEE] — | 4 (A) 14000 B
[AE£] 1% :190,000 " ~ 23%&:44,000”  33%&:19,000 M  437&:14,000 M .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= 4 o 1EmER A :28. 02— . — EE® (1)
11515 ESKEITRLF 4 5 53 1(2_8)3 3-2-2-2 37.8 4 ;1_434) SEE /A
RiNT BieIRIINY wIL HE  Em
o S KEFF :28. -1-1- . — TERE= (%512)
A : FIEESEY S & ! i R ’ fg) wmEm
R:T7V17143VYF— B:3270 HET7— L
B4 | BEEEAE 1:29.0 9-9-8-6 |37.2| — 5 467 | DNEE=EAR (S£HA)
3 6| TAES 54.0 3) ) |FESE
T4 h7—=IEY B I7LEXR-F EANIS
. 4 5 | EHEN 1:29.1 2-3-3-4 [38.4| — 7 449 |TERIE= (543)
4011 |ERZRX— 54.0 yE (o) |TRIIEE :
RixvyUgdyk BiRFHREHFIT BEZX 2 Y K
N I 4 5 | EHERE 1:29.3 4-4-3-3 [38.5| — 1 405 | fREERA— (554R)
5188 IN=JLT G147 54.0 (11/2) 0 REE X g
R:THINRry b BiUSY T4 H EE=ENS
o = 7t B At :29. —6-6- . — BB/ (1)
6lglg|m—vxLA1 i 5 L 1(229)7 6-6-6-6 | 38.7 2 g? gkl A
R:AOA—TXA2 A4 B:OAXETVIL AREGa—T7—L
S N i 5 | RINARI 1:30.0 7-7-7-8 | 38.8| — 6 436 | DREE=ER (354R)
71717 ¥ albyhk 54.0 (11/2) -3) EHEE— :
VLK YIYRIZR BATHIXTY L BSrie
NS 4 5 | [ 1:30.2 5-5-5-5 | 39.2 | — 8 597 | JIIUSBAE (5£H4)
gl 4| ¥ TANT2TIL 5.0 (11/2) Lo | B Tr—ZhETa
RO—TXA LA B:RAFFFD [intie)
S 3 B o7 | AR 1:31.0 8-8-9-9 |39.1| — 9 503 | BEEIEA (542)
o2 *1¥av777a 8.0 @ vy | #) Aoz
XA agHLyy B2 71v4 iy —=
® I—F—@EBIERL
13—7F— 3,1,5,8,4,9,7,2,6
Ao=5"= 3,5,1,8,4,9,7,2,6
T =35r= 3,5,(1,8),4,9,7,6,2
43—+ — 3,5,8,1,4,(6,9),7,2
[ N5
B 5 680H 794K 3-5 1,030M & 3-5 2,250 &R 3-5-6 4,810
# B 5 220H 5-6 710H B E B 3,760 EE 5-3-6 33,760
3 200M 3-6 540M B H 5-3 4,770
6 1909

ABICOVWTRDTEEERROODE. TR LIV,




